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Q1- The electric current due to the passmg of 500 protons during 40 s is:

A)40 A [LB)2T’LAT C) 0.4 mA D) 20 uA
J\.\Amusuu 10 cm ekl (A ghanl Lo g0 10 4 0038 2 368 S 5e 13) -2
Q2- If electric current of 10 A passes through a cylindrical conductor having a diameter
of 10 cm, the current density equals:

A) 10 B) 3148 LZGTT?.M ] D) 100
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Q3- What is the electric potential across a resistor of 50 2 when a current of 5 4 passes
through it?

145250 } B) 500 C) 10 D) 0.1
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Q4- The current density in a matenal is_inversely proportional to:

A) Conductivity B) Electric Field /J:Q/Resistivityj D) Vglqme _

(W A | ”~
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Q12- If the current passing through a conductor is reduced to one half, the drift velocity of the
electrons is changes to:

A)l/4 B) 4 times D) doubled
P a.;l_,t,g..lq.i:\.‘.l..'....l\li“ld.i 150

Vs e 3.31 Amp oS plaas il il €151 Y.
Q13- If the electric current passing through a light bulb is 3.31 Amp at 150 V, the energy
consumed in one week is:

A) 100 MJ B) 200 MJ D) 331 MJ
165°Ci ) ada ;020 60 QQ 525 C o 4 50 die 15 £ Jom pe e glie S 1012 £
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Q14- If a conductor has resistance of 15 Q at 25 °C and 60 Q at 165 °C,
what is the resistance at 90 °C?

A) 90 B) 60 D) 15
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Q10.In a conductor if the cross-sectional area 4 cm?, the electron density3 x10*cm™ and :

speed 2% 10°m/s, then the current density, J, becomes: d m " and the drift
’ gt odlel liandl aa i g (b Ll il eSSl AS sia o 10

A)8.4x10*A/m  B)2.1x10* A/m* C)3.2x10* A/m* D) 6,4x10‘5JA/m2 (£)9.6x10" A‘j;r‘lz

Q11. A wire shows resistance of 10Q at 20°C and 30Q at 100°C.The temperature coefficient of

resistivity of the wire will be:

51l Jalee da (18 ¢ 100°C ) 20°C e 5,1 adt da 3 s aie 30 Q Y 10Q G0 Qo g da glie 455 1) 111
o) (5 gl (Raliall) e gill Ao pliall

@2.5 x102°C? B)43°C! ) 1.65x10%°C' D)3.78°C'  E)5.00°C’

Q12. An electric heater is operated with a potential difference of 110V to a Tungsten wire that
has a resistance of 10Q. The power of the heateris:

o Ol 338 () «10Q 4l slie (i Slly] 10V (A0 S 32 Gk (S0 jeS Qi Jal 12
A) 8.00kW © B)3.25kW C) 5.78kW D) 2.45kW  (E)1.21kW
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Q13- If the current passing through a resistor is reduced to one half, the delivered power is:

E)}&ﬁcﬁed o+ 34 ' B) increased 4 times C) reduced to half D) doubled

1ot daly p gl Al BUall (U 1000 T S lane b8 CilS 1Y) -1 450
Q14- If the power of a light bulb is 1000 7, the energy consumed in one day is:

Emmm‘:»'} B) 1000 kJ )24 MJ D) 13 kJ

90 (@) Laylall 81 sl iapd Jalaa 10 °C ey Lipionss i 5 Q0 () 20 Q (0 o glia i 13) =150
Q13- If the resistance of a resistor decreases from 20 Q to 5 Q when heated by 10 °C, the
temperature coefficient of resistance (a) is:

A)0.3 B) 3.33 C) - 0.025 f?DB"-"QZL:'
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'Q3- Two million protons pass an area in 20 usec, the electric current is:

1A) 16 x10°° [ " B)3.2x10°® C)3.3x1073 D)8
10955 ALVl Ao yuall Gl adaiall dalise SIS g Jom ga B Ll Cae s 13) 400

Q4- If the current in a conductor is doubled as well as the conductor cross-sectional area,
the drift velocity is: - :

A) reduced to half B) doubled C) constant D) increased 4 times
c9h Ll laia 12 P a8 Lyl o g (38 L3 20 Q W a8 A glia DA (e (2068 ULE a2 =50

Q5- When electric current passes through a resistor of 20 Q, voltage of 12 ¥ is measured
across its ends. The electric current equals:

A) 220 B) 1.66 [ cos | D) 0.044
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Q7- A resistor of 3 Q at 0 °C has resistance of 8.5 Q at 150 °C. s resistance at 7' = 100
0 .
C 1s:

A) 6.67 B)5.17 C) 4.02 D)3.23

2o U oy oL 4615 o e 13) (39l L (ps3 360) dis 334 200 W 45 33b h S 7L pliliont 45 Jfihn Lt o
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Q8- What is the cost, in Saudi Riyals, of using a 200 W lamp continuously for a period
of one year (360 Days), knowing the cost of 1 kWh is 0.05 SR?

A) 1500 ‘ B) 86.4 ‘ C) 86400 D)1.5
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Q16- The electric current when an electric charge of 5 C passes an area each 1073 s is:

A) 0.5 B) 0.2 | C) 5000 D) 2000

_ 6 ST TR Y T slie % o (a5 Sl A 1T
Q17- The ratio of an electric potential across a resistor to the passing current is:

B) Conductivity C) Resistivity D) Drift Velocity
I 420 250 Jlaier 3l sall da 3 plis )l Ao 3gall G L pa A sl 3 i (32 0.3 D oSl Ll 3ok cuadail 1Y) 1 R
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Q20- If the current passing through a resistor is reduced to 0.3 of its value due to an increase

in the temperature by 250 C° while maintaining the potential difference constant, then the
temperature coefficient of resistivity (o) for the resistor material is:

A) 0.0133 ((B)0.00%3 ) C) 0.0173 D) 0.0013
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Q6- A metallic wire has a cross-sectional area of 12 x10°® m?. If it carries an electric ,
current of 10 4, the drift speed of the electrons is equal to: (n =4 x 10°® electrons/m’ )

A) 0.78 mm/sec m.m mm/sec ) C) 10 mm/sec D) 5 n:zm{sec

Q7- The equivalent resistance between a and b in the circuit is:

| 40
1Q
AWV
20)
a VW > b
30
“WWy 60

A) 21 B)9 C) 2.16 D) 1.62
b 5 W e 10 Q Aalia (8 aslginal) 3 5080 8

Q8- If the current, passmg through a resistor of 10 Q, i1s 10 A4, the delivered power equals:
A) 1 "B)10 C) 100 ( D)1000 2
- (a)‘u:—_,.a.“h_,\.unb_)_)ﬂ\h_)dglo\uu‘ \J&Ab_)\ﬂ\‘\;_ﬁ&h.\)\.iumua.\\.nu_,\.iat_u \.:a\-gu.n

QO- If the resistance of a resistor decreases with increasing the temperature, this indicates
that the temperature coefficient of resistivity (o) is:

A) positive ﬁ negative ) C) zero D) changing
\ — ——— - -
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Q3- If the passage of hundred million charged particles during 13 s creates an electnc
current of 2 mA, the electric charge of each pamde 1S:

B) 750 mC : C) 133 uC D) 333 nC
e 10‘ mo "“.:h.g_). 4._31,{_4’-' =~_4_~_<._Laugd L.LJJ.:&\)UUMY\‘&::)»:-GU;I
Q6- The drift velocity of ==lecm_ns inside a conductor with a current density 1 kA/m’ and

charge carrier density 107" m” is:

A)12.5 /s B) 6.25 Mms C) 12.5 mmv/s D) 6.25 um/s
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Q7- If the price of one kWh is 0.26 SR, what is th
conditioner, rated 2000 W, for the whole vear (360 davsY

=2
€ Costin daudi Riyvals of runming an air

A) 449.2 B) 1728 | DY172.8
T T=25 M T=100°C e Sl ja da 3 ais o (e=5x10" ‘CAS=Trrs 4 yia 2 ARR,) ol i ]

Q8- The fractional change in the resistance (AR/Ry) of an iron filament (@=3x107 °CH),

when its temperature decreases from T=100 °C to T=25 °C. is:

B) - 0.25 Cj—~02 D)-0.3




